
� GA48.V2 Issue 2 PL  12/02/18

Sealey Group, Kempson Way, Suffolk Business Park, Bury St Edmunds, Suffolk. IP32 7AR
01284 757500 01284 703534 sales@sealey.co.uk www.sealey.co.uk

Page 1 of 1

NOTE: It is our policy to continually improve products and as such we reserve the right to alter data, specifications and component parts without prior notice.
IMPORTANT: No liability is accepted for incorrect use of product. 
WARRANTY: Guarantee is 12 months from purchase date, proof of which will be required for any claim. 

Parts Information:
Laser Wheel Alignment Gauge
Model No: GA48.V2

Item Part No. Description

1 GA48.TRS201 MAIN BAR (MIRROR SIDE)

2 GA48.TRS202 MAIN BAR (LASER SIDE)

3 GA48.TRS203 BATTERY HOLDER END CAP

4 GA48.TRS204 SMALL FOOT

5 GA48.TRS205L LARGE FOOT (LASER SIDE)

6 GA48.TRS205M LARGE FOOT (MIRROE SIDE)

7 GA48.TRS206 SWING ARM

8 GA48.TRS207 TARGET PLATE CLAMP

9 GA48.TRS208 SCALE PLATE BRACKET

10 GA48.TRS09 MIRROR FRAME

11 GA48.TRS210 CONTACT FINGER

12 GA48.TRS211 TARGET PLATE

13 GA48.TRS12 DIODE HOLDER

14 GA48.TRS15 SCALE PLATE

15 GA48.TRS16 LASER DIODE

16 GA48.TRS217 LEVEL VIAL

17 GA48.TRS18 CONTACT SWITCH,ROUND

18 GA48.TRS19 MIRROR CLIP

19 GA48.TRS20 MIRROR

Item Part No. Description

20 GA48.TRS21 GUIDE STRIP

21 GA48.TRS223 THUMB SCREW M6

22 GA50/PPS24 LENS

23 GA48.TRS225 END CAP (PLAIN END)

24 GA48.TRS27 SCREW M6x12 DH

25 GA48.TRS229 NYLON NUT

26 GA48.TRS230 WASHER NYLON WHITE M6

27 GA48.TRS32 SELF TAP SCREW 4 x 5/8

28 GA48.TRS33 SCREW PH M8 x 20

29 GA48.TRS34 THUMB SCREW M8 x 16

30 GA48.TRS36 BATTERY (AA)

31 GA48.TRS237 BATTERY HOLDER

32 GA48.TRS239 SOCKET SET SCREW (M3)

33 GA50/PPS105 M8 CAGE NUT

34 GA48.TRS242 SPRING

35 FWM4.S FLAT WASHER M4 SINGLE

36 GA50/PPS145 M3 X 8 P/H SCREW

37 SN3.SW WING NUT M3 (SINGLE)

38 GA50/PPS146 M3 STANDARD WASHER


